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package xyz.quxiao.play.lab.leetcode;

import com.google.common.collect.Lists;
import java.util.Collections;

import java.util. Comparator;

import java.util.List;

import java.util. TreeMap;

import lombok.Data;

/**
* zigzag * @author ¥E& :quxiao BlEEATE: 2018/8/29 16:56
*/public class Problem6 {

public static void main(String[] args) {
String s = "PAYPALISHIRING";
Problem6 problem6 = new Problem6();
System.out.println(problem6.convert(s, 4).equals("PINALSIGYAHRPI"));
System.out.printIn(problemé6.convert(s, 1).equals("PAYPALISHIRING"));
}
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public String convert(String s, int numRows) {
List list = Lists.newArrayList();
boolean down = true;
Str last = null;
for (inti = 0;i < s.length(); i++) {
Str str = new Str();
str.setC(s.charAt(i));
if (last == null) {
str.setRow(0);
str.setCol(0);
} else {
if (last.getRow() == 0) {
str.setRow(1);
str.setCol(last.getCol() + 1);
down = true;
} else if (last.getRow() == numRows - 1) {
str.setRow(last.getRow() - 1);
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str.setCol(last.getCol() + 1);
down = false;
} else {

if (down) {
str.setRow(last.getRow()+1);
str.setCol(last.getCol());

} else {
str.setRow(last.getRow()-1);
str.setCol(last.getCol());

}
}
}
last = str;
list.add(str);

}

Collections.sort(list, new Comparator() {
@Override
public int compare(Str o1, Str 02) {
if (01.getRow() != 02.getRow()) {
return o1.getRow() - o2.getRow();
} else {
return o1.getCol() - 02.getCol();
}
}
1

StringBuilder sb = new StringBuilder();

for (Str str : list) {
sb.append(str.getC());

}

return sb.toString();

}

@Data
public static class Str {

private int row;
private int col;
private char c;

public int getRow() {
return row;

}

public Str setRow(int row) {
this.row = row;
return this;

}

public int getCol() {
return col;

}
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public Str setCol(int col) {
this.col = col;
return this;

}

public char getC() {
return c;

}

public Str setC(char c) {
this.c = ¢
return this;
}
}
}
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